
  

HONDA CBR400R/ CBR500R 
CB400F/ CB500F (2013-2017) 

Part Nr.  670 

872 

8420  

877 

901 

M6 x 25 DIN7380 

813LA 

813RA 

M8 x 25 DIN7991 

810R 
M6 x 25 DIN7991 

 

M6 x 8 DIN7380 

M8 x 30 DIN6921 
807 

M6 x 20 DIN7380 

816R 

 
 

818.205mm 

M6 x 45 DIN7380 

817 + Ø12 x tl.18 
M6 DIN985 

 
 

M8 x 50 DIN6921 
807 

M8 x 20 DIN7991 M8 x 20 DIN7991 

THREADED ROD M6L 
+ 2x M6 DIN934 

M8 x 40 DIN6921 
+ Ø22 x tl.5 


